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TILAK MAHARASHTRA VIDYAPEETH, PUNE
B.A. - SOCIAL SCIENCES
EXAMINATION: MAY - 2022

SECOND YEAR

SEMISTER - IV
Sub: Urban Sociology (SC-402)

Date: 25 /05/2022 Total marks: 100 Time: 10.00 am to 1.30 pm

Instructions: 1) Attempt all questions

Explain the concept. (Any 10) (20)

)
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community
Migration

Density of population
Industrialization
Idustrial city
Industrial revolution
Self centeredness
What is marriage ?

Stratification

-
©

Caste

-
=

Religion

Beggary

-
n

Write short notes. (Any Four) (20)

)
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Types of migration
Cities in future

Types of family.

Nature of urban marriage

Urban local self government institutions

Answer the following questions in brief. (Any Three) (45)
Explain characteristics of pre-industrial and industrial cities..
Explain pull and push factors responsible for migration.

Elucidate causes and remedies of beggary problem.

M 0D P ow

Discuss the problem of slums.

Q. 4. Essay type/ Open ended question. (Any One) (15)
1. Illustrate on the consequences of urbanisation on family.

2. Why town planning is essential ? Write in detail basic principles of town planning.
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